TS FEAM S ERBENEROHFRRRITREA XS



MENRE SIS AN TR B B SN S 2 R TR AT 25

% L] R - BARSTiE BfL % B B ® # m o=
E#R 25,592, 641
ERERMEFERRITRRS 25,592, 641
ERERMEFERRITREARS 25,592, 641
BREES 24,662, 150
HREES 415, 450
1 B 1.00 415, 450 415, 450
=
WihRE 3,844, 400
2 BiRE (HHEHRBRED 1.00 812, 800 812, 800
=
3 BiRE (EELHFRED) 1.00 3,031, 600 3,031, 600
=
FEIRE DR 4,633, 500
4 FIREDERN (HPEHRBRED 1.00 2,196, 400 2,196, 400
=
5 BB DR (EELHFRED) 1.00 2,437,100 2,437,100
=
BEERMER 12,113,000
6 MEENIEN (BHERRED) 1.00 7,181, 500 7,181,500
=
T EEERER (EREEHIRED) 1.00 4,931, 500 4,931, 500
=
BE 2, 488, 000
8 B& (EEHEDER) 1.00 1,181, 800 1,181, 800
=
9 BE (REEHER) 1.00 1, 306, 200 1,306, 200
=
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& - S 1,167, 800

10 HaT5E 1.00 117, 400 117, 400
=]

11 hREHRE 1.00 862, 100 862, 100
=

12 R#E|E 1.00 188, 300 188, 300
=]

E#EEE 930, 491

EBARE 210, 063

13 EHERAME 1.00 210, 063 210, 063
=

k& 430, 428

14 jx#& 1.00 430, 428 430, 428
=

EBRRERE 290, 000

15 EBHELRE 1.00 290, 000 290, 000
=




LSS BRSEEAN S EHBD BRI B R R ITRET R

% g R - KSR Bifr B 2 B i & B W =
BRI 24,662,150 + 930, 491 25,592, 641
EEAGE 24, 662, 150
BE#RE 930, 491
T DR 24,662,150 x 53.85% ( 35% =~ (1 — 35% ) ) 13,280, 567
BRI 25,592, 641 + 13,280, 567 38, 873, 208
—REEES 38,873,208 x 53.85% ( 35% + (1 — 35%) ) — 6,430 20, 926, 792
KBS 38,873,208 + 20,926, 792 59, 800, 000
HETREALE 59,800,000 x 10.00% 5,980, 000
EBEREN 59, 800, 000 + 5,980, 000 65, 780, 000




RifiF-ET/ 75— BFSEE M 75 BB D G R MM B R ATIR S 27

&5 :1
&% FrEEE 14y
2 b g - BIRTE By o = B ® W = " =
HEnE
A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& Hi 1YE%HeH - 1.00K 415, 450. 00 415, 450
5:2
£ WHAE  (HEHRRED 14y
2 b g - BIRTE By H = B ® W E " =
AR (A)
A 3.00 55, 200. 00 165, 600
HEm (B)
A 8.00 45, 300. 00 362, 400
AR (C)
A 8.00 35, 600. 00 284, 800
& Hi 1E%HeH - 1.00K 812, 800. 00 812, 800
5:3
£ WHAE  (ERLHRRED 14y
2 b g - BIRTE By H = B ® W = " =
AR (A)
A 14.00 55, 200. 00 772, 800
HEm (B)
A 20.00 45, 300. 00 906, 000
AR (C)
A 38.00 35, 600. 00 1,352, 800
& Hi 1E%HeH - 1.00K 3,031, 600. 00 3,031, 600
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Hz5 .4
£ HEREOMER  (HEHRRED 14y
2 b g - BIRTE By = B ® # " =
AR (A)
A 10. 50 55, 200. 00 579, 600
HEm (B)
A 14.00 45, 300. 00 634, 200
AR (C)
A 20. 50 35, 600. 00 729, 800
g
A 8.00 31, 600. 00 252,800
& B 1YE%HeH - 1.00K 2,196, 400. 00 2,196, 400
&5 :5
£ HEREOMER  (ERMLHRED) 14y
2 b g - BIRTE By = B ® # " =
AR (A)
A 12.00 55, 200. 00 662, 400
HEm (B)
A 15. 00 45, 300. 00 679, 500
AR (C)
A 21.00 35, 600. 00 7417, 600
g
A 11.00 31, 600. 00 347, 600
& B 1E%HeH - 1.00K 2,437,100. 00 2,437,100
&S5 :6
2% BEERMER  (HMEHRED 14y
2 b g - BIRTE By = B ® # " =
AR (A)
A 39.00 55, 200. 00 2,152,800
HEm (B)
A 43.00 45, 300. 00 1,947,900
AR (C)
A 75.00 35, 600. 00 2,670, 000
g
A 13.00 31, 600. 00 410, 800
& B 1E%HeH - 1.00K 7,181, 500. 00 7,181, 500
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&5 .1
2% BEERMER (EEEHAED 1LY
2 b g - BIRTE By = B O ® # " =
AR (A)
A 26.00 55, 200. 00 1,435, 200
HEm (B)
A 31.00 45, 300. 00 1,404, 300
AR (C)
A 49. 00 35, 600. 00 1, 744, 400
g
A 11.00 31, 600. 00 347, 600
& B 1YE%HeH - 1.00K 4,931, 500. 00 4,931, 500
5.8
& BE  (RIEIKZEDOMER) 1LY
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 19. 00 62, 200. 00 1,181, 800
& Hi 1E%HeH - 1.00K 1,181, 800. 00 1,181, 800
59
2% BE (BEERMER 1LY
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 21.00 62, 200. 00 1,306, 200
& Hi 1E%HeRH - 1.00K 1, 306, 200. 00 1,306, 200
&5 :10
¥ BATHE HEED)
2 b g - BIRTE By = B Ol ® # " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 117, 400. 00 117, 400
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THISE E N5 BRI E N IE R B R EUTIR T 5

=11
£F5 . RS 14y
2 b g - BIRTE By = B ® # " =
AR (A)
A 7.00 55, 200. 00 386, 400
e (B)
A 5.00 45, 300. 00 226, 500
AR (C)
A 7.00 35, 600. 00 249,200
& Hi 1YE%HeH - 1.00K 862, 100. 00 862, 100
&= 12
£ EW|E HEED)
2 b g - BIRTE By = B ® # " =
HEnE
A 1.00 70, 900. 00 70, 900
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 188, 300. 00 188, 300
&5 .13
&% EHARE 14y
2 b g - BIRTE By = B ® # " =
EHERARE
= 1.00 210, 063. 00 210, 063
& Hi 1E%Heh - 1.00K 210, 063. 00 210, 063
514
B kB 1%Ly
2 b g - BIRTE By = B ® # " =
i3
= 1.00 430, 428. 00 430, 428
& i 1E%HeH - 1.00K 430, 428. 00 430, 428
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THSEEAM A EFERENEEMM S ERETRA RS

&5 .15
& XEFERERE IEED)
£ 5 L - BIRTiE BAf = B & % = & &
EERRMRE
= 1.00 290, 000. 00 290, 000
& Hi 1YE%HeRH 1,00 290, 000. 00 290, 000




